Writing a Riemann Sum using Z-notation

Example 1: Suppose that f is a function. We want to write a left Riemann sum for # on the interval

[1,3]. We will use 6 subintervals of equal length.
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Example 2: Suppose that f is a function. We want to write a midpoint Riemann sum for f onthe

interval [1,3]. We will use 20 subintervals of equal lengtl% - M
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Example 3: Suppose that f is a function. We want to write a right Riemann sum for f on the interval
[a,b]. We will use 50 subintervals of equal length.
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Example 4:  Suppose that /" is a function. We want to write a left Riemann sum for f on the interval
[a,b]. We will use n subintervals of eqt(@%length.
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